N = 0l & At & Ml A

SH: SYAEHDY
Ha: 500 ASEH

E€el: sHEYIANS sAHA(sHELENSSESA) (Sl & &)
SN BB ERI(SH) - MEANY - BES 0l & o p/E-F HIDE2

sgE M 8,985,084 8,985,084 0

sHZ ASEUH 165,084 185,084 30,000

sHELINZ SN (sHELENSSESA) 165,084 185,084 230,000

SHELENZ 84 XA 165,084 185,084 230,000

307 glz2+ol & 165,084 185,084 230,000

08 OIXt2& = 165,084 185,084 230,000

OsoE2dX= OIMEES

Z & 155,084,000 165,084 185,084 230,000

Heaes(sgZ2) 8,830,000 8,800,000 30,000

HWEHAHX S (sSH XY ) (sHELE NS SLSIAH) 8,830,000 8,800,000 30,000

SHEZEI= HE=S 8,830,000 8,800,000 30,000

706 JIEFLHS H el 8,830,000 8,800,000 30,000

03 HE= 8,830,000 8,800,000 30,000

ogal= HE=s Z & 8,830,000,000& 8,830,000 8,800,000 30,000




